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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-12_0

Warning: col ['minFVliraw , 'minFVOraw’ ] is missing

minFVI
minFVO

Warning: col [ ETcA2raw’, 'ETcA2'] is migsing

o ETcAlraw
—  ETcA1
—@— ETcA

1.0

0.4 0.6

0.8 1.

0.8 -

0.6 1

0.4 -

0.2+

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

4000

3500

3000 -

2500

2000

1500

—@— ECopt
—0— ECI
—@— ECO

Warning: col ['ECC'] is missing

7.0

afning: col ['PHC'] is missing

—@— PHopt
—O@— PHI
—@— PHO

31.

31.

30.

30.

29.

29.

28.5 -

Warning: col ['WCperMraw', |'WCperMavg'] is missing

—@— WCperM

0. 50

0. 45 -

0. 40

0. 35 A

0. 30 -

0.25 A

0. 20 -

——
+
——

minDeltaM
avgDeltaM
stdDeltaM

30 A

28 A

26 A

24

22 -

20 A

adjFVOR

-0. 02 ~

—0. 04 ~

Warning: col ["adjFVIRraw’, "adjFVIR, "adjFVORraw ] is missing

°
° 'Y

° ° :

® FRA !

® FRC !

[ ] FR 1

raw . |

— FR ° !

|

70 -

60 -

50 -

40 -

30 -

20 -

10 ~

o postFgEtraw
—o—
+

postFgEtavg
postFgEt

O [ - ————



FgDai ly

- 100

- 60

- 40




b4




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

| 1 1 1 1 |
ETcl ETcldef ETcP ETcPT ETclis ESo

| 1
ETol ETbai

pR

1.0

0.8

0.6

0.4

-0.2

-0.0



° ° ° °
200 - y e o 4 ° o ° ° 4 4 oo
° ° oo ° ° ° ® °
° ° ° °
T ° T ° 7 ° 7 e °
— ° ° ° °
L2
L | PS ° o | PY o ©® LN _ e0® | ® ® ®
(Y ° ° ° ° o ®oo0
o, o 8 » o,
) ® ..'a L) ) . &:‘ ) _ooo. : ° | ® $ ) ° .' o. &
o ® % ] < o °
° ° ° °
T T T T T T T T T T T T T T T T T
1600 4 ° ° | | o o | ® | e i o0
% [ ° ]
1400 - P ) ° e | 000 |%e®°® o o |® o @ | 0o
e ® %o ¢ % % %o’ & ¢ % $.0®°
e ¢ [ [ J «
1200 o’ ° § e '° . S o Je ®o LA
° ° ° °
< 1000 1 . . 1
= ° . . ° . ° ° . ° .
800 - 1 . . 1
° ° ° ° °
600 - . . . .
° ° ° ° °
400 : . . :
200 1 @ - [ . o - ]
T T T T T T T T T T T T T T T T T T
° . [ Y
® o
20 - & o ° i
(54 « * °
18 7 o 1 o 1
[
16 ® - ° i
° °
14 4 i i
® °
% ® 9
° ° °
75 . .
eo e o [ ]
70 - . .
65 ¢ . e - M ) ]
£ 60 e - o %°, ]
55 oo ¢ ° ] o0 & |
° °
50 o ® . () ° T
® e o
45 ® b ® b
° °
° °
150 A E E
: ’ .
o © ° o
Z 100 1 1
01 $ ' «*
” e ° e o o
@ PY )
0 T T T T T T T T
° °
° ° o®
325 1 ° o0 ® o o i
° )
[ J [ ] oy
300 o o i . |
_ ° °
275 ® 1 ° 1
250 1 1
° °
i ° 4 ° Je
225 ° °
200 ~ ° . ) 1 e
T T T T T T T T T T
0 50 100 150 200 500 1000 1500 14 16 18 20 50 60 70 0 50 100 150 200 250 300 350

ETcl ETol T RH VN I



500

400 ~

300

200

100 -

1.0

0.8

0.6

0.4

0.2

0.0

obs
Fit

50

100 150

baiA

baiB

0. 1345

0. 0063

0.0

0.2

0.4

0.6 0.8

1.

0

obs

175 -

150

125

100 -

75

50 -

25 -

Fit vs obs: a=1.53, b=-41.34, r=0.67

1.0

40 60 80
Fit

100 120

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2 0.4 0.6 0.8

1

0



hour

10:20

12:05

13:45

100

80

60

40

20



P3-12

BfE) | GEBERTK (7)) | EBE (EA/HK) | XS R

09:20 135 50.0 FA FiHA@09:20 (KRFEREE)
10:20 135 50. 0 ;| 7HA@10:20 (RAFEREER)
12:05 135 50. 0 55 FnHfe12:05 (REERSE)
13:45 135 50.0 5] FiHf@13:45 (RFERE)
2it| 540.0 (4%) 200. 0 B UFHKEC: 1840.0, PH: 5.6

RE X i#t [B] RECE IR ER 5.

REFERIEC (2470.0) 5iZFEEC (2000.0) REK K, HHE
BE[EIKECE (2470. 0 vs 3760.0) 1R

RER BB HEREC/PHERK, AT REMIERLRR
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